Efficiency vs P,

0.05
o
9.045
>
20.04
o
.035
0]
0.03
0.025
0.02
0.015
0.01F -+ P Feeeeeeeeen e

0.005f- -+ -4h-eevieemeeeneens  ERCRLE SIRPELTIRPS
Y| ST ST S S
T r :
o [

1_—- B I I T

o
©
a

=
o
iN

1 10 . Gedf’

—=— DQM_mkFit_TT_baseline_6iter

—— DQM_mkFit_TT_RetrainV2_WP1_6iter

=0.05
[
§.045
2
$0.04
[S]
$.035
o
0.03
0.025
0.02
0.015
0.0
0.005

lG—
1.05

Ratio
N

(48 RARAY RARAT LARA R AL

+
¥
&
» o
$
3t
=%
T
» o
> 4
> o
+
+
» o
T
» o
*

0.95
0.9

N
|L
o e e e I
=
N
(oY)

Efficiency vs ¢

=0.02




	Contents
	Page 1


